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1. Factor each of the following completely.

A) x*-10x-24 B) 5x°-14x-3 C) 4x*-24x+44

(_’X—l;ﬁ(mg} (’x~5)(5rx+|) Y (‘)&Qf@axﬂh

D) 3x*-9x E) 64x*-9 F) x*+10x+25

B (%-2) (x+D(8x-3)  (x+9)

G) —3x*+6x+45 H) —2x% +3x+20 D x*-16x"

-3(%x-5) (%+3)  ~(2%x*-2«- ;).0) x l(wq\)(rx;,_{)“f .
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2. Solve each by FACTORING.

A) 2x*+3x=5

=" = =2 :?‘
;7} X _57@ X= L

B) 15x* +10x =0 C) 9x*—42x+49=0

3. Solve each using the QUADRATIC FORMULA.

A) 2x+3x* =1 B) 5x*=2(2x+1) Q) 4x-2=-x"
|

x=-1, % x=2 + M %= -2 G
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4. Given the diagram and information below, find the value of x.

mid=x+18 A
maB = 2x% —4x + 37
maC = 90°

- —F
xX="Z 5

5. You want to expand a garden that is 24 feet by 16 feet by planting a border of flowers. The border
will have the same width around the entire garden. The flowers you bought will fill an area of 60

square feet. How wide should the border be?

3 feet
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6. Graph each of the quadratic functions given in vertex form.

A) f(x)=(x+37 -1

&

X
O

B) f(x)=-3(x-2)+9

X
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7. Graph each of the following. Identify the graph’s family of function. List the domain and
range. List the translations for the graph where applicable.

3
A) y=——x+5
)y 5

AN

Family: |in0ar
Domain: (._ OO )-}- OO)

Range: (_ OO’ + OO)

B) y=2x*-9

i\ a\

7
)‘/

Family: Ch\) adrat C

Domain: (—-DO ,+oo)

Range: E_ q , + oo)

Translation(s): dowr\ q un H"ﬁj
Vertical stretch
(more ROriow )
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7 (continued). Graph each of the following. Identify the graph’s family of function. List the
domain and range. List the translations for the graph where applicable.

Q) y=——;-|x+1|—2 D) y=3%

/‘/)\
= - =
h 4 Yy

Family: ObSolute value Family: QX D0 nential
Domain: (- oo, +OO> Domain: (— 00, +<)O)
Range: (_OOJ N 2:] ' Range: (O? 'l‘DO)
Translation(s): ¢ P ons d own

lef+ 1 Un t

down 2 units,

Verhical compression
' (UU\er p




Honors Algebra 2 Additional Summer Packet Practice Problems 2016-2017

8. Simplify each of the following algebraic expressions.

A) B +2x+ D+ (5x-7) B) (7x° +2x*+x-10)-(5x* —4x +13)

2%+ Fox 7% - 3% +5%-23

€) x(5x*+11) D) (4x+3)(2x-3)

5o+ 1)x Zx *-Gx -9
E) (2x-5Y R x> +5x-14
x+7
Hx? -20%x +25
X— QA XEF
O s
-(% +8) x+8 xr 2

o= X#-3
X+ 3 >




